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WA 23.9 JtiEE 235 2,160 1,296 1,210 10 Va9
LA B X 0.3 - 1,728 - 10
IZALA 154 JtiEE 13.6 - 1,620 - 10 Va9 S
IZALA f = 1.8 1,296 — 1,188 10 L
ZIES5 5.8 BRE 5.4 2,700 2,700 2,484 0] A L
ZI1ES5 = I - 734 - 1
[E<E0LY 22.5 £ % 22.2 3,780 2,484 1,620 150 A 6
HTE 1.4 2 0.9 2,376 2,376 1,728 4 A L
ZEDOH 7.0 BERE 3.4 1,836 1,836 1512 4f A M
Fry 96.3 B E 76.0 1,415 1,080 1,080 10 Va9 8
FrRy E X 13.7 756 — 648 10 Va9 8
IE5NAZES 0.8 = I 0.1 — 270 — 0.2 A L
hE 7.7
Ch¥ 1.6 2 [ 0.9 5,184 2,592 2,268 3l A M
125 2.0 ElG 1.1 4,590 3,780 3,510 5] vay
L) — 0.4
FRINGHR 1.7 N 1.3 — 92 — 0.1 vay L
LA 375 E % 374 2,700 2,360 2,160 10 A LL
LAR 2 [ 0.1 1,080 — 810 1 A L
FoTYA 0.8 BRE 0.5 2,376 2,160 1,728 4f A L
=p5Y 21.4 ERE 2.2 1,296 1,080 1,080 5] A L
=p5Y ElG 6.3 2,592 1,728 1,728 5] B M
ANESSED) 5.3
Y 6.8 = I 1.7 2,160 1,728 1,620 5, B LL
k< 21.2 EES 11.7 2,160 1,944 1,296 4 vay M
el X & 7.1 2,376 1,728 1,728 4 A 24
S 7.0 EES 3.1 259 238 216 02| vay M
Nt 4 X & 2.6 270 238 216 0.2 A M
E—<> 7.4 X & 34 130 108 108 0.15 A M
E—<> BRE 15 4,320 - 3,888 gl A L
ES5HACL 1.9 JtiEE 1.3 4,039 — 3,802 10 A LL
T35 2.6 BRE 2.6 86 43 43 0.1 A M
[ZA5Y 5.5 BRE 5.2 1,058 648 540 3l A M
SPVAITFA 0.1 =l - 3,780 — 2l ¢ 25
MAL& 44 BRE 3.3 1512 1,296 1,296 5 L
MALE BRE 1,620 1,512 1,188 5 M
[EhiLs 21.1 JtiEE 20.9 — 2322 — 0] A L
[ECTRYNS JtiEE 1,728 - 1,620 0] A M
IEhLs 5 # 0.2 3,456 — 3,240 0] A L
IEhi s T & - 3,456 — 0] A LL
=& 0.3 =l 0.2 702 702 486 1 A
hLE 2.9 JtiEE 25 5,940 4,860 4,860 10 A LL
=FhE 30.6 JtiEE 26.1 3,240 3,132 3,024 20 La4
f=FhE JtiEE - 972 - 10
f=Fh&E = B 3.3 2,819 — 2,268 15
f=FhE = B 282 — 227 1.5
A1z 1.2 5 # 0.6 2,160 1,944 1,728 1 A M
ELLV=T 1.1 BERE 0.1 — 108 — 0.1 L
HELLV=IT =l 0.6 86 86 76 0.1 A
ZDEET 45 E I 3.0 32 22 18 0.1 A
LHL 2.1 2 [ 1.7 97 65 63 0.2
ESES T 391.7
B=
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BINAMDAET 2.0
INGRH DA 1.6 BRE 0.3 — 3,240 — 5/ A L
INGRFHDNA BERE - 4,320 — 5/ A M
INGRFHPNA BERE - 4,320 — 5/ A S
INDRH A = B 1.4 — 2,160 — 5 L
INDRFH A T B - 3,240 — 5 M
INDRFH A T B - 3,240 — 5 S
LEY 1.6 F Y 0.7 7,020 6,264 6,264 17 140
INLULT 3.2 = I 3.2 7,020 6,804 5,400 17 88
L7y 0.3 m7r2Y 0.3 4,752 — 4,320 15 45
YATE 2.9
PErE=IY 0.9 5 & 0.9 7,560 6,912 6,804 10
AL 0.2 5 & 0.2 - 5,962 — 0] A LL
HA%LE 22.8
=K 0.1 = B 0.1 — 3,888 — 2.5
25k 12.7 2 [ 4.6 - 4,320 — 10 D M
— i 9.8 EES 9.1 7,020 5,940 4,860 10[ 7hva 32
ZTDHMEL 0.1 EES 0.1 - 432 — 05| vay 4L
3HET 15
) 1.4 TMET 0.3 - 5,400 — 5| 742 13
RO 0.1 E % 0.1 — 378 — 0.5| 7hva 3L
FTHHE 0.4
343 0.4 TMET 0.4 486 432 432 05 vay LL
SESE 8.1
TI9IF 0.2
Big 43 2 [ 3.8 1,166 — 1,123 120 A A
EA—* 0.7 = I 0.4 - 1,728 — 2| 7hva 4
A)—A 0.3 2 0.3 - 864 — 2l D 3L
AOVEF 2.3
7—ILR 0.7 EES 0.7 3,024 — 2,592 8l 7v 4L
FDAOY 1.6 JtimE 0.5 4,320 3,564 3,564 8l van
JLHE 12.7
FLVvH 11.2 E % 0.7 3,780 — 3,240 16 A 5L
ZEETLVH 15 BERE 15 3,240 2,484 1,620 0] A M
INFF 16.3 EEY 16.1 6,653 3,791 3,285 15
INAFyTIL 5.0 EYEY 5.0 3,780 2916 2916 10 7
FoA4T)LY 1.9 - 1.9 5,076 4212 4212 5.8 27
BE#E 815




